
A. 
Q.1 ? 
 

Q.2 ? 
 

Q.3 SI CGS 

 

Q.4 , 

? 
 

Q.5 SI 
 

Q.6 ? 
 

Q.7 ? 
 

Q.8  

 

Q.9 

 

Q.10 
? 

 

Q.11 - ? 
 

Q.12 m 
h 

? 
 

Q.13 1 N 
1 m 

? 
 

Q.14 1 
? 

 B. 

 

Q.15 
, 


Q.16 

? 
 

Q.17 

 0º  90º  ?  
 

Q.18 

 

Q.19 
? 

 

Q.20 
? 

 

Q.21 
? 

 

Q.22 
, 

? 
 

Q.23 
? 

(i) 
(ii) 



(iii) 
(iv) 
(v) 
(vi) 
(vii)

 
Q.24 " " 

? ? 
 

Q.25 1000 kg , 10 m/s 
8 m 

 

Q.26 2.5 × 1010N 
5 m/s , 

2 
 

Q.27 5 m 
2500 

? 
 

Q.28 500 N , 5 
100 N 
4 m , ? 

 

Q.29 60 kg 1.8 m 
: 

(i) 
(ii) 

 

Q.30 100 W 2 
, 

? 
 

Q.31 800 N 
B 1200 m 
A , 200 N , 

: 
(i) 

? 
(ii) A 

B  ? 

Q.32 600 N 5 s 100 N 
4 m 

- 
 

Q.33 6 × 103 kg/min 
10 m 

? 
 

Q.34 
4 s 2 kg

6 m g = 9.8 N 
kg–1 (i) 
(ii) 2 kg 

   C. 
Q.35 ' ' 

? 
  

Q.36 

 - , 
? 

 

Q.37 m v 

, 
m  h



Q.38 
? 

EXERCISE - 2 



 Edubull


Q.1   - 

(A) 
(B) 
(C) (A)  (B) 
(D) 

 
Q.2  - 

(A) 
(B) 
(C) 
(D) 

Q.3  - 
(A) 

(B) 

(C) 
(D) 

Q.4 : 
(A) (B) 
(C) (D) 

Q.5 : 
(A) 
(B) 
(C) 
(D) 

Q.6 : 
(A) (B) 
(C) (D) -

Q.7 , : 
(A) 

(B) 

(C) 

(D) 

Q.8 
F 

S , 
 - 

(A) FS (B) FS cos  
(C) FS sin  (D) 

Q.9 
: 

(A) (B) 
(C) (D) 

Q.10 
: 

(A) (B) 
(C) (D) 

Q.11 , 
h , 

: 
(A) (B) 
(C) (D) 



Q.12 : 
(A) 
(B) 
(C) 
(D) 

Q.13 :        
(A) 1 J = 105 erg   (B) 1 J = 107 erg 
(C) 1 J = 103 erg   (D) 

Q.14 K 

– 
(A) K (B) 2K 
(C) 2

K (D) 4K 

Q.15 1 kg 4 kg 

(A) 4 : 1 (B) 1 : 4 
(C) 2 : 1 (D) 1 : 2 

Q.16 ? 
(A) (B) kWh 
(C) (D) 

Q.17  1 kg 1 J 
 - 

(A) 0.45 ms–1 (B) 1 ms–1 
(C) 1.4 ms–1 (D) 4.4 ms–1 

Q.18 

 - 
(A) (B) 
(C) (D) 

Q.19 
 - 

(A) (B) 
(C) (D) 

Q.20 'm' 'd' 
,  - 

(A) d
Mg (B) 2

Mg2

(C) mgd (D) 2d
Mg

Q.21  10 kg 10 m 

 - 
(A) 1000 J (B) 500 J 
(C) 100 J (D) 

Q.22 
 - 

(A) (B) 
(C) (D) 

Q.23 , 
 - 

(A) 
(B) 
(C) 
(D) 

Q.24 

? 
(A) 
(B) 
(C) 
(D) 



Q.25 
,  - 

(A) (B) 
(C) (D) 

Q.26 g g 
1/6th 1.5 m 

 - 
(A) 9 m (B) 7.5 m 
(C) 6 m (D) 4.5 m 

Q.27  - 
(A) 
(B) 
(C) 
(D) 

Q.28 1 kg 
1 J , 

: (g =  9.8 m/s2). 
(A) 0.10 m (B) 10 m 

 (C) 9.8 m (D) 32 m 

Q.29  5 kg 
245 J 

 - 
(A) 15 m (B) 10 m 
(C) 7.5 m (D) 5 m 

Q.30 
 - 

(A) (B) 
(C)  (D) 

Q.31  - 

(A) (B) 
(C) (D) 

Q.32 - 
(A) (B) 
(C) (D) 

Q.33 
16 

-
24 

(A) 
(B) 
(C) 
(D) 

Q.34 - 
(A) 746 W (B) 550 W 
(C) 980 W (D) 32 W 

Q.35 
 - 

(A) 
(B) 
(C) 
(D) 

Q.36 240 kg 3 
2.5 m  - 
(A) 1960 W (B) 19.6 W 
(C) 1.96 W (D) 196 W 

Q.37 ? 
(A) J/s (B) 
(C) kJ/h (D) kWh 



ANSWER KEY
EXERCISE - 1 

6. 1 watt = 746 H.P 12. mgh 13.1 Joule 14. 1 watt
25. 6250 N, 5 × 106 J 26. 15 × 1014 J 27. 50 kg 28. 480 W
29. (i) zero, (ii) 1080 J 30. 0.2 kWh 31.(i) 12 × 105 J, (ii) 2.4 × 105 J 32. 560 W 
33. 10 kW 34. (i) 117.6 J (ii) 29.4 W

EXERCISE - 2 
Ques 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans B C C D C C D B B C C A B D A

Ques 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans D C A C C A B A B C A B A D B
Ques 31 32 33 34 35 36 37
Ans B B A A C A D




